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5.5 Binomial Products T T
. MATHPOWER™ Nine, pp. 193-194 '
To expand a binomial product, use the d,i"sti'ibufive property. -
Multiply each. term in the first binomial by each term in the second -
binomial. Yéu can remember this method with the acronym FOIL, - ‘
which stands for First terms, Qutside terms, Inside terrhs,-andea‘st terms: |
(2% + 1)(3% + 2) = 2x(3x + 2 + 13x +2) (2 + 1)(B3x + 2) = <2m)
= 6x" + dx + 3x + 2 ~
=61 + 7x + 2 F 0 1 L
: =6+ dx +3x + 2
=6+ 7x + 2
Express each area as a product and in expanded 13. €t + 5)(¢ = 1) t + 4t =5
form. Let G represent green tiles and R represent | = . i 2
ed tiles. | MG -bern (D T b 2
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G_[R[R : | 16. (5 + 24)(2 + %) 0+ 9X+ 2%
N (AE2)(x 4 5D 7oy -9y -2 2 - 120 1 (0
6 lajalalale] T X4 TX + 1O 18.5-2m@=ny __ IS —/lre+ 20
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G___|RIRIRIRIR . (m+4Bm-2) _ ST 0w - 3 ,l
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20, (4g - 3)(g + 4) g+ /.%51 =12 l
Expand, 21, (2y + 3)(3y + 2) Lo =+ (34 + &
N v
3 2x+ 4) Loyer=3 2. (Sh = Dk -3) _IOK ~(Th i 2 i
22X+ 8 <X -3 . . z ¥
T | BG-22)02-3) _6 —135+ LS
5. 2b(3b ~ 2) 6. 4a(22* - 5) . L 4y 12 ~up - 3pF
Ehi - ah Sa3 - 206 2G4 = —lp -3
i dl , Multiply. - :
Find the product. : R A O
pros | a* S+ L b /(x+ 04— AN~ X 08
7. (a+3)a+2) AL S | o LG -5
sk o4+ 47 26. (c = 15)(~c+5) —C +65C—-T.
8. 2+kh@B+k __E T Sk + f ' 2" 3l e 012
- 32 4 7 27.(d - 06)3d - 12) 3d_— 3¢ "
9. (x~1)(x - 2) L - 3% "+ 1954+0. 06
- oc 115 28. (55 + 0.2)(2s + 0.3) 10 = i
(0= =3) ——= 2 29. 3(x + 2)(x + 3), = 3(X+ 5x+L) = 3AFISAHE
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